Relay—type Terminal Block

A 2
5 B =15
30 36
! ! / / | |
TZ T T T T
(N} 4@ f
0 /> WX\ =
S < < e
| ! . ! — — ] —_ ! | b~ N
\ | __ | ___ ___ | ___ | ol M| b=
] > Nz =
w =Y % >\ V> YiVe> YK
- |
' &-‘/j \YJ \2-‘// @
I ®
I I I I
] ] / / ] ]
LO
20 |30 6 8| 2
<D —
i
| [ £ !
I P
|
! |
jrssacqppieiey D) | | -
| L | T | L t <t
_ L___|
T I
i , Lo
| ]S
| hY } 2 21
o 7/
SO A | p.
+ Ordering Form:Type No. No.of Poles(P)
CERRE A AT RV 2 12, ONem,
* Connection screw:Tightening torque is 12.0N-m.
s FOMA T g ka—bE—R (F2149)
+ Other options *Jumper (F2149)
W {t#k.Specifications.
ERZE /Part No. 3% /Part No. & Material #R#& . Standard ~ti%/Size Q038 /Treatment 5% /Remark
1 FRESE T Intermediate base | ) —#%—b  Polycarbonate UL94V-0 H {5 Black
2 v A End base A | ®U»—®%—} Polycarbonate UL94V-0 H 4 Black
3 MiuE7 B End base B | RKJ#—®%—}k Polycarbonate UL94V-0 H {4 Black
4 HESH Terminal 4R Brass C2680R W OJE 3.0 =y VAyE  Nickel-Plated
5 FERRAR L B Screw &k Steel SWCH M10X1.5X200 Sf7m A= Trivdent Chromate Treatment WSHfAAY b Type@
6 NFF > b Hexagon nut &k Steel SWCH MI0X1.5 Zff7 8 A= Trivdent Chronate Trestment
7 LA Marking strip| 7 7 A 73— Fiber UL94V-0 W JE 0.8 =) White
8 Ty /N— Cover RYA—HR%—1F Polycarbonate UL94V-0 W t1.0 1% BH  Transparence
9 H =k A Cover Retaing screw O Brass C2700W M3 0.5X80 =y VAvF  Nickel-Plated PLSIEAAAL VR Type®
10 NFF > b Hexagon nut k58 Steel SWCH M3X0.5 S/ A=bF  Trident Chromete Treatment
11 sHifEAR L R Comnecting bolt Bk Steel SWCH M4 X 0.7 ZM7 2 A—N  Trivdlent Chromate Treatment F
12 sHifEJw b Connecting nut &k Steel SWCH M4 X0. 7 S A=b  Trivdent Chronate Trestment

r

@B /N—FEHR (1/3)

A +2
8 C
6 LI
i /]
:H [N
l—oﬁ
o
(2] aN|
o o~
@
4-R2 11

©

/

E s F . pitch 36mm

Eid]
e F1007-PCA
€ T AC0OV 250A
ating
HZER DC500V  1000MQ LA E
lusulation Resistance| DC500V 1000MQ and over
it & £ AC3000V 14FELLE
Withstands Voltage | AG3000V 1minute and over
RL&E
Screw Diar:nl-;ter M10
AT 2
Co?n%aﬁbﬁﬁv;\?ire 150mm
ﬁﬁ&%ﬁﬂuﬁ% R150—10
Recummended Crimp Terminal

—fi8 4% General Tolerance +0.5

|REScale!; B4 Unit mm

)

;q/

rE & D-D

®
@

®

=

= =

@ BrmX E-E @
#/Poles | 1P 2P 3P 4P 5P 6P 7P 8P 9p 10P | 11P
A 70 | 106 | 142 | 178 | 214 | 250 | 286 | 322 | 358 | 394 | 430
B 60 96 | 132 | 168 | 204 | 240 | 276 | 312 | 348 | 384 | 420
C 54 90 | 126 | 162 | 198 | 234 | 270 | 306 | 342 | 378 | 414




